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Bturdv the Z grovps of things below.

ach guastion from 1 to 20, four options are gven, One of them isthe correct
r. Chanse the orrect option (1, 2, 3 o5 4) and shad= the correct oval on the
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Which of tha following headings for Gtsun A and Graup B is coirect?
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When John tried to cateh some fishes i his aguanum «with his haind, they swam

away. Which characteristics of living things were the Tshes showing?

A Reproduce
B Move by themsalves
C Need air, watar and food

D Respornd to changes around them

(1) Aand B only
(2y  Aand C only
(3)  Cand D only
{4y Band D anly

Ahmad is locking for a T-ghirt to wear to his socrer praciice. it must be figh
cool and able-to absorb his perspiration. The T-shit material that s most

sunable is

(fy  woo!
(2)  nylon

~ (B}. cotton
(4)  leather

Bird’s Nest Fern and hoss are exsmiples of

(1 fungi
(2)  woody plants
{3)  micro-organizms

4y non-flowering piants



5 The diagram shows an electromagnet that is ussd in & rubbish dump.

The electromagrat can be used to separate pleces of

rest of e rubbish, - ‘ -
Y stead znd iton
Y gold and sitvey
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7

placed it in the garden. After a week, he obesr
towards the small cpening.
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Ali placed his potted plant in a black box with a small cpening on is side. Ha

ved that ihe siem nad grown

(1)
2

%y
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(4)

respond to waler by growng towaras it
need mineral salts and water to sunvive
respond to sunlight by growing towa'cs
need air, waler and warmih to make

The fiow chart shows how m

a3sanes are sent

it

feod

to the brain so that a parson can

decide not to drink sour mik. e ~
/./ Grain undersyands
. - J— / and senis
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The fetter Pin the flow chart reprasents

hlood

(2) nerves
(3). tongue
(4) muscles
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Which of the fodewing shows the life cvele of

i1 which pars of the digestive system is digestive juices not addad o the fond?

a butterly cotrectiy?
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11 Some animals are classified iinto two grovps @s shown bhe

Animals ]
f

i

' |
— - |
Lo 1 :
X Y
Duck - 5. ; Tiger
Parrof ; Whate §
Platypus ; | Girgffe |
A | |
Which of the following is carrert?
- _ - — » .
(1) Birds Co Marrinals |
' e L e o
() Fiant-eatars | Anima-eaters i
I
3) Animals that lay egys Arimaiz that give birth to fve voung |
(4) | Animals that live in the water | Animals thatiive on land
S Lo : S

12 The diagram shows a fish.

Which 'part‘of--tﬁe fish helps it to move forward”?
(1 A
™ B
3 «
4 D
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12 Raju acsidentaily fouched his mother’s cactus p

14 Usa vead

short distance abiove some stes] thumbtacks

sho wr

She wag tryira to find out which
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15 David found that oy stroking an iron natl wiiit 2 magpet more t

becomes'a sirongar magnat Which of the follewing actions wi

affect on the iron nail if it is mads into an sectromagnet?

\

A increases the nambar of batreries

Harmmering the iror nail several times

o

C - Increase the number of coils around the ros nail

{1 AandBonly
{2y AandCony
(3) B_ané‘ C only
(#) &, BandC

16 What is the function of the

A Protectthe seads inside it

m

Hold the plant firmiy to tha ground”

C Absorb water and disscived mineral-sans

(1) Aonly

'(2) Acand B only
(3} Band Conly
@ A BandC
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Karan | mﬁjaixywmagnetaboveélUM“D'f,ptmut¢ s weight by a shring. The

magnat pulisd e paper ¢lip up. Wnen shs placed 2 sheel of

the maanat and the clip, the clip remained where it was, When

iron sheet at the same place, the clip drepped to tha ground.

B
e e
[ _
e SUINIC )
retors stang —————— . . R

F-—— Magnet

M- - = = —

paper between

she placed an

Which of the foliowing statements is correct?

i1y The paper clip-was magnetised. - - -

(2)  The shestof paper was magnetised,

3 Mag nom force can pass through the sheet of naper buf net the ron

shenst,

{4) Magreticforce can pass throuan the iron sheet hut not the sheat of



18 Which of the following objects make uge o magnets?

|
|
A. i

('ﬂ "A ard B.only
(23 Aand C only
3). B and C onlv
(45-,- A Band C

M

l
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19 The diagram below shows ihe muscles and bons of the arm, 1

Muscle A,;.,w..___‘-’-\\,:\_z \

X ‘\Q_. N>

When the arm is straightened. what happens to Muscie A?

{h Hswings.
(2)  frelaxes.
(3)  ltcontracts.

(4 itlengthens.

EL &LSF A1)
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Nazd nlaced some thumbtacks near a horse shoe magnet. The rumber of

thumblacks abracted to the different pars of the mansnet is shown in the table
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Section B (50 marks)

s

Write your answers to questions 21 to 38

inthis bookiet.

Filt in the blanks with the correct answers.

21 - The graph below shows the heighl of

2 days over a period of 8 days.

.....................
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a young plant which was i

3

W

[LA Hejoht (o)

Day 2

(3) What was thesdifference-in the heightof the plant from Day & to T

(b) The graph tzlls us

All living things produce their own Kind, LCiicks lay

Filt in each biank with a suitable word,

3
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will hateh into ducklings and durian trees prodace dunans svhich bave

a __life cycle as tha

that there will be living things

el & Isf

that will giow into young durian trees.

parent. This repaating patt:

The young wilf have
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of the sarme «ind acound.

[..-,,__ ........ -
sub-total %
{ !

i 4




23 The Gaogram shows a classification tabie for living things.
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24 Fred conducted several tests on malerials F. Q and R o fnd cut the properties
of each material. He recorded the results in via iable below
Property Material P | Materizi Q ( Material R |
o :
. v - - - — -’--:-- Ii > l
Allows light to pass through | No NG _; Yes ;
/ : H
! : |
e i~ —— : e
Breaks when aropprd No Mo No
3
Watemroof e ND Yes i
! _'
Rard ‘ Yas Yes Yes
. i
e i 3 . H
(2) Which is the best matenal for making window panes 1]
() \J\"’)V is this matenal umtab' 272 [
(). G Ircle the cojest which is most likely 1o ve made of Materis! © i1

2 W f

\
/

Y

Of \liut(\ .al .

() Wood is amexample
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27 The table gives information on theee animale, X, Y ang 2. Atick (¥ ) shows that
the animal has that characteristic.

ir Annna. 3 Arimal Y \ Animal 7
' !
l— Lays eggé inwater _—|[v N N
Lays egas on land I N Y N )
Young resembles adult i N v d_f
! !

(@) ldentify the following animals by writing X, ¥ or 2 in tha spacas provided.

Goldfish

Mosquito

(0)  What are tie characteristi

cs of Animead

v

X

2l

(¢} Circle the animat that could be Animal Y {11

Mealworm Beetle

Cockroach

Han Rabbit

el & Isf

B35

Dolphin

i
Sub-totay |
{
1




M

The diagram shaws the life oycles of two animals. Compare tham and
ne simiasity end two differences in the ooxes below.
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9 The diagram shows two similar potted planla Al of the leave
covered with thick pieces of cardboard, Both plants are g
of water and placed in the garden.

thick piece —
of
cardboard

(@)  After two weeks, Plant B was heall
be the same? Dsscribe what wii

Y

af Plant A are

28
~ - = N RS e e Dol <3
ta are givan the sams amourt

Plant B

. vy g 1 e AKX L T byt
ad many raves, Wil Flant A

»Plant A after two weeks, {2

L

I il et 3 b i,

(b)Y~ What does this show? Y
(¢) When a plant breathes, it takes in and gIves out
e {1
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30 The dizgeam shows a balsam plant.

{a) inthe dlagra v, label the part that supports the bravches and-the leaves.
| R O

3) - Whist is the function of the balsam frui?? S N
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31

(

most usefu! in identifying the following situations/objects? 21
SituatiomniDb_;mct'_ ~ Sense Qrgan )
A telephione finging ﬂwf o
' f
Asour fruit ”M_d*m_"é
Cold watet )
I’IP ink Tiowsis ) I
1
L —

(b) Explain why ihe sense of hearing 15 most useful toa bat fiying in 5 cave
N
(1}
32 Classify the following metals in the table below. {2
Aluminium Jran T o Steet

Magnatic Materials Norn-magnetic Materials |
L j
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34  The diagram shows a shape formed by four par magnets placed together.
The North pole of the first magnet is indicated by the letter ‘N

N

(a) Inthe diagram, identify the poles of the third and fourth magnets by
witting ‘N’ for Nedh poiz or 7S’ for South pols in tha correct boxes

[11
Later, two of the magnets were removed and replacea by iron tars of
the same size.
Both magnets
removed sid
_ o replaced with
v ‘,/'/’;-" iron bars of the
y same sjze
.................. =
e
J
{b)  Whatwould happan to the shvape forrmed by the iron bars and the
remaining magnets now? - (i1

el & Isf B4



35  Sallchwas giver a bar magnet and told to remove the iron nails from the

tin container without pouring out or touching the oil.

1 CoNainNeT mwmimee—
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(5 What would ~appen if a plastic contaipi” was used
container?

instead of the tin

36 Tim stickad 21 iron nail with a magnet in one direction a

that it could stiract a few paper clips.

wanted the irop nail to attract more papet clips? .

few times and found

)y Without using any other objects or materials, what could Tire do if he

(b)Y Describe one method he could use to demagnetize the iron pail, 1]
- ~ v |

el & jsf B-12
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37 The diagram shows two ing magnets, A and B, ficating

which is resting on a weoden base.

(2) Why does Magnet A appesr to Hoal

ef & /st

wootien basy -

Canove WMagnet B7 i1

above Magnet C

. z 5 - - P

(b)  What should be done to the magnets so that alf of t
one another and resting on the wooden base?

hem are arasted to
[

o LU N




Ponend
38 Devi colled o wire round a wooden mer and connestad the ends of the wire o 3

i P
0RGEY

woaden pencil

_ hattery

by Name an noiect that can be used instead of the pencil so that it cen
hecome an alectromagnet. i1

End of Faper

el & Isf 2 .14 Sub-total
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Material R

Material R 1s guitable to make window panes bhecause it

allows light to pass
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29) adNo. Plant A would die aftey bwe vesks fecause 1L caanck
make foad for ditself without oxjgen.

b)Y The plent needs sunlight to make food.

"‘J

c) oxyman

carbton dioxide

r) It belis the plant Lo reprodice.

: Y Bars . , \ ‘ .
311 &) Davs b) Tt will not be easy 20 see in a dark
cave, go 1its senss rf hearing would

o - ) X = .
sonpue be us "ul £y know whare it 18 going,
Skln
Eyes

373 Iron Aluminiunm

Steel : Tin
. Copper
32% &) Tt haelps to protect your brain,

B> cw sur arms and legs to move back and forth in oune

353)a) Yes. Lf Sallieh puts the magnel clese to the oil. the
magnaetic irvous would he attractad teo rhae magnet and
out of the tiun countainer,

M
Iy

) The zame thing that bappened in {a).

36) at . Stroake the ivon nail 2 few move times.

37 a) The same poiss are facing each other.

vl
~

a magnetic object. b)Y an ivon nzil,
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